[hE—F4 3 A
50 R feLEA £ UEETA [10] (B E By R H
ORYDHFIC. SZ0HTE LT OICTAs hEELLD,
OEYDHTHSE, 3D HTEVWT.OIC TRAEHNEELED,
Q)
+ : C
1
3
6
0
9
@
_ 0 0 1/
3)
4
)/
2
8
xE A z /)7 7° U = %

studywith.net =¥



NFE—F4 FE#]
50X feLEA & UETA [10]

ORYDHFIC, 2ADHTZ LT LIS ZfcAZ hEFL LD,
ORYDHITHE. DADHNTZ UOWT. LIC ZfcAZz hEEL & D,

®
+ O . g
1T{2 1 7 8 9 5 4 6 3 10
314 3 9 10 11, 7 6 8 &5 12
67 6 12 13 14 10 9 11 8 15
of1t 0 6 7 8 4 3 2 9
9110 9 15/16 17 13 12 14 11 18
@
_ ) 3 16 19 14
°o| 6 o5 710 13 11 14 9 12 8
41768 111412 15 10| 13
714 3 8 11,9 12/ 7 10 6
219 8 1013 16 14 17 12 15 11
83 2 7 10 8 11 6 9 5

227 g

studywith.net [E="#




